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Addition — 2
1. Add 1 to largest 3-digit number.

2. Add 450 to smallest 3-digit number.

3. Add smallest 3-digit number and smallest 4-digit number.

4. Largest 3-digit number + = Smallest 4-digit number.
5.2615+ 1272 +356=1272 + + 356.
6.1253 + =1253.

7.3755 + 2913 =
8.3228 + 1775 + 236 =

9.62 + 322 + 1008 + 4226 =

10. 3005 + 1123 + 2334 + 817 =

11.2405+ ____ =2505

12. 2450, 2650, 2850,

13. 12675, 13675, 14675, 15675,

14. 26789 = 20000 + 6000 + +80+09.

15. 9000 + 900 + 90 + 9 = Greatest 4-digit number. Mark True / False.

Copyright © 2019 LetsPlayMaths.com. All Rights Reserved.



